Pre Calc  6-2 Word Problem Practice WS
Answers:


	1. What is each student’s final grade? 

[image: Matrix Multiplication of Grades]
Alexandra has a 90, Megan has a 77, and Brittney has an 87


	2. 
[image: Cashew Problem Matrix]

The entire matrix is the answer. 

	3. 
[image: Cashew Problem Answers]

	4. This one’s a little trickier since it looks like we have two 3 x 2 matrices (tables), but we only want to end up with three answers: the total score for each of the girls.
If we were to do the matrix multiplication using the two tables above, we would get:
[image: Matrices for Fair Contest]
So Brielle- 86.8, Brynn- 79.2, and Briana-110

	5. Store A, $4600
	6. Holly- system B,  Joelle- system B, Luisa- system A

	7.  the 10-ton truck takes 7 trips and the 12-ton truck takes 13 trips 
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Matrix Multiplication
_ Think of turning the first matrix to the right and sideways,
m multiplying each number by the numbers in the second
v matrix, and then adding them together.
921008980 ) 90 For example,
72858035 |x| B[ 77| | (92x.4)+(100%.15)+(89x.25)+ (s0x.2) =005
88 78 85 99 87 (72x.4)+(85x.15) +(80x.25) + (75x.2) = 76.55
(88x.4)+(78x.15) +(85%.25) +(92.2) =86.55
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Almon ecans Prot., Low-Fat and Carb Prot., Low-Fat and Carb
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Protein Blend | Low Fat Mixture | Low Carb Mixture
Protein (grams) | 230.3/10 =23.03 | 214.7/10=21.47 |  160.2=16.02
Carbs (grams) | 389.9/10 =389 | 403.7/10-40.37 | 251.2/10 =25.12

Fat (grams)

704.7/10 = 70.47

679.5/10 = 67.95

776/10=776
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Quilting BusterandRiftting ~ Brielle, Brynn and Briana Brielle, Brynn and Briana

Brielle [164 19 175 Brielle [86.8 104.7 108.4
Brynn (124 13 16 x = Brym 698 792 834
Briana | 15 20 175 Briana | 85 1025 110





